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5.3 Practice Indirect Proof Date .

Complete the proof. D a
Given: 21 = 2 and DG is not congruent to FG. E@
' F

Prove: DE is not congruent to FE.

" S

T aTr .
3. Assume that Dt — V € Assume the conclusion is false.
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7. This contradicts the given information, so the assumption must
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8, Therefore, _\PSE: S neN = FE

‘Write an indirect proof for each of the following.
2. Given: ALMO
Prove: A triangle cannot have two right angles.
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Write an indirect proof for each of the following.

4. Given: D = /F. E
Prove: DE # EF :’i
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L NAME DATE PERIOD

Practice
Bisectors, Medians, and Altitudes

and CD are medians, and P is the centroid.
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1.FindxifDP=4x — 83and CP=30. 4.5 =% \DN
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2. FindyifAP=yand EP =18. 2\, = N

ALGEBRA In AABC, BF is the angle bisector of ZABC, AE, BF, /E%c

3. Findzif FP=5z+10and BP=42. D O = ¢

4. ¥m/ABC = x and m/BAC = mzBCA = 2x — 10, iz BF an altitude? Explain.
BF L oo il Yecoan U %210 an BF15 0n dogl Bl
Yron £BRT =70, 2086220 and by ASwm £ AF®=q0 y SO BF_\ D

-
E
L}
-
O
n
n
@
A‘ 2

ALGEBRA In APRS, PT is an altitude and PX is a median. P

5. Find RS if RX = x + 7 and SX = 3x — 11. %\
\\)5 =32 8 R

6. Find RTif RT = x — 6 and mZPTR = 8x — 6.
L=,
ALGEBRA In ADEF, GI is a perpendicular bisector.
7.Find x if EH = 16 and FH = 6x — 5.
K=2 Y
8. Findyif EG=382y — 1and FG = 2y + 5.

Y= S
9. Findz if m/EGH = 12=.
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Points E, F, G are the midpoints of sides AB, BC, and AC respectively.
10. Find the value of each variable.
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